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 Evaluación/Trabajo práctico de: MATEMATICA.

Docente: Guillermo Banchieri
 CURSO: 4º “NAT
Alumno/s:........................................................................................ 
 FECHA:         /          /  2017.
Resolver las siguientes operaciones de suma y resta de radicales.
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	[image: image2.png]2V2-42+2 =(2-4+1)2=-2
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	[image: image3.png]A 56 4486 = 2% 356 +42-3° =26 —56 +9/6 =66
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	[image: image4.png]345 -245-45-(3-2-1)¥5=0
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	[image: image5.png]2./5 + /45 ++180 — /80 = 2./5 +432 .5 +4/22 . F .5 27 . 5
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	[image: image6.png]VIZ-3B 42475 =422 . 3-33+2J52 .3=23-33+10y3 =93
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	[image: image7.png]Y5416+ 250=42 F -¥2*+¥2.5°
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	[image: image8.png]Y7 +88 —126a =427 +32° -2 = B 42— B =5




	8
	[image: image9.png]AN1Z = 7475 + 5300 = ay2? -3 - 75% -
4-2:43-7-5-3+5:10-\3 =83 - 353+ 503 =
B(8-35+50)=23\3
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